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QUESTION 1

The message service performs the following tasks in the Java cluster:(More than one answers are true)
A. Guaranteed message transmission

B. The applications can lock objects are release locks again.

C. It manages the lock table in the main memory and receives requests for setting or releasing locks

D. Forwarding of messages and requests to all participants (broadcast)

E. Support for message server failover

F. Communication between different services

Correct Answer: ADEF

QUESTION 2

Assume that you want to transport non-ABAP objects with the help of the ABAP Change and Transport System. Which
statements are correct? (More than one answers are true)

A. You need to define transport routes between the non-ABAP systems in question.
B. The Transport Domain Controller must be based on SAP NetWeaver AS 7.00 SP Stack 12 or higher.

C. If you want to transport Portal Content with CTS, the portal runtime systems need to based on AS 1 Java 7.00 SP
Stack 12 or higher.

D. You need to define non ABAP Systems in Transaction STMS and you need to maintain the tp parameters for these
systems correctly

E. The CTS deploy web service must be configured on every non-ABAP system that is defined in transaction STMS.

Correct Answer. ABD

QUESTION 3

Which of the programming languages listed below are implemented platform-independently?
A. C/C++

B. ABAP

C. Java

D. Fortran

Correct Answer: B
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QUESTION 4

The objects that can be adjusted are some of the tables and views that can be maintained using transaction code
A. SM30

B. SM37

C. SM29

D. SM21

Correct Answer: A

QUESTION 5

Concerning some (CCMS) monitoring terminology, which of the following statements are correct? (Choose three)
A. Each MTE can only be used in exactly one customer-defined monitor definition at a time.

B. Each monitoring attribute is assigned to exactly one monitoring object.

C. A monitoring attribute is also a monitoring tree element (MTE).

D. A monitoring object can have more than one assigned monitoring attribute.

Correct Answer: BCD
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